=Y A PNES
1 HEFTOFTEM T 020-0694

B R BEIR AP IA 808 & HEt
HEEE  019-688-5656 (7= AAES)

SR245 H 1 AHLE

(1) B
[E%: 8 A~14 AN FH: 11N (FE7 A EFHAN) (EH: 24F]
HOoF R o w B " (GB45)
HoEFER & B B W (GB15)
WS & W #m (GB45)
2N e Bk E ot (F45)
2N B B oK B (F45)
2 N i % sF . (F2w)
2N WO ok Kk (FB25)
2 N X H i (F25)
2 N R B & # (FE25)
2N B R ot (] 3%5)
Hoo®H n B FE F+ (B3
(2) B55
[E%: 2 N Fd: 2 N (F#E1 A, JEEE1AN) T8 24]
Y E BT B i
B OF N R

(3) FFgA

[E%: 17 A~29 AN  FEH: 23N (EH#H: 24]
-F1E5 o m B #® M
-He2E B oS OE OB B T W OB R K
X H SN S |
- $H 35 o Z e R OW O OE xR Fno#k
B4 B R It e B’ T x BB F
M BH ] £ {8 NI 1 /N
Fo55 oW o Bo®E I &N OB = OB OB
N A A K E OB E o E K ®
B oH O OB o o8 O = W Kk F



TR 245 H 1 ABHEDR AR DIEFEL LTSN T

1 WEAR
(1) fEEEEE

(G245 H 1 HBLE)

Migx 4, /T B AER 1A G | 28 W) 3F 5ik)| 44 WELE | FEeg
AN 1, 600 438 430 467 455|( 1,790\ 111.9%
S WEEE ST LR 240 71 59 76 78 284|  118.3%
A AR SCFF 240 75 71 83 80 309|[ 128. 8%
fha b F 240 66 85 81 77 309] 128.8%
REHE TR 560 155 134 153 156 598(  106. 8%
KERFHMARER T 320 71 81 74 64 290 90. 6%
B8 R KSR A 300 99 105]_—] 204]68. 0%
TR 0 M B A AR 450 172 149 169 490[|  108. 9%
BRI M B R 1| Shife 75 21 27 25 73 97.3%
TR ] I A I A TR Sh e I 75 11 12 22 45 60. 0%
A & 2, 500 741 723 683 4551 2,602 104.1%
B2 5 H 1 HB{EOTEREE K 2, 602A
AFILH 5 A 1 HBUEDIEEEH L 2, 694A
(2) TEEFHK (245 H 1 HHLE)
gk 4/ HH Wil ||EeEk| Keg
MR AR 342 208  87.1%
FEEILFE 20
A ARSCER 39
thE 3 bEF 21
REHEFEFR 60
KERFER 22
(B RZ35T) 162
BHARFE 33
B EEFK 6
B I 15 S AR (FE ) 23
b B 18 S AR (BFERER) 66
BiHIB 15 5 AR (Foh—3E8) 8
& &l 298




SH2E5A1BREDEBEHRS

(3) MEHK (HF245 A 1 HBE)
oo ep | om | oe | = oo | SRR
5 R 1
SR 31 17 0 6 0 54
JERE AL 7 3 0 1 0 11
A AR 3 7 0 1 0 11
EOMOR | R sUeEER 7 3 0 1 0 11 58(7)
IREHEFF 14 4 0 3 0 21
REFFA 5 4 1 1 6 17
RERFR 5 4 1 1 6 17
at 36 21 1 7 6 71
RAlipNES HIRBEF 7 3 0 3 0 13
RPN & 7 3 0 3 0 13
A i) DR 7 B R v S S 30 2(2) 1 0 33(2) 5(1)
R i) R B B it ) | 5 e ] 8 3(2) 0 2(2) | 13(4) 1(1)
Ta i) DR 7 B e A [l 50 [ 7 1(1) 0 (1) | 92 1(1)
EANAT FBIRE 27(2)
= at 140(8) 92(12)

X () BERETTHEMRE 2 £,

(4) BT

B 11
(3=l

o 2
A= 3= 23
Jek Fi 3
BB 6




